
6 x 12 

10 cm est égal à : 

a. 1 m 

b. 10 mm 

c. 100 mm 
Réponse : c 

400 mm est égal à : 

a. 4 cm 

b. 40 cm 

c. 4 m 
Réponse : b 

1 m est égal à : 

a. 100 mm 

b. 1000 cm 

c. 1000 mm 
Réponse : c 

50 mm est égal à : 

a. 5 m 

b. 5 cm 

c. 5 mm 
Réponse : b 

25 m est égal à : 

a. 25 cm 

b. 250 cm 

c. 2500 cm 
Réponse : c 

500 cm est égal à : 

a. 5 m 

b. 50 m 

c. 50 mm 
Réponse : a 

10 mm est égal à : 

a. 1 cm 

b. 10 cm 

c. 1 m 
Réponse : a 

La longueur du pouce 

d’un homme est de : 

a. 6 cm 

b. 6 mm 

c. 6 m Réponse : a 


